
APPEAL No 13: Unauthorised Panic
08.027 Spring Bank Holiday Congress
Tournament Director:

Andrew Kambites
Appeals Committee:

Steve Gore (Chairman), Malcolm Pryor, Paul Denning
	IMPs to VPs
Board no 6
Dealer E
EW vulnerable
	( 9 2
( K 6 5 4 2
( J
( 10 8 5 3 2
	

	( J 10 8 7 6
( A 10 7 3
( K Q 7
( 9
	N

W                     E

S
	( A Q 3
( Q J 9 8
( A 4 3 2
( Q 4

	
	( K 5 4
( none
( 10 9 8 6 5
( A K J 7 6
	


Basic systems:

East-West play strong club
	WEST
	NORTH
	EAST
	SOUTH

	
	
	1NT
	Dble (1)

	2( (2)
	3(
	3(
	Pass

	3(
	All pass
	
	


(1) 1NT = 15-17, double was for minors.
(2) Not alerted. W meant it as transfer because they normally play transfers over double of 1NT.
Result at table:

3(( by West

Director first called:

At end of hand

Director’s statement of facts:

But they never discussed it if double was conventional (W said this later)
N asked and was told ‘undiscussed’ by E.

On discussion after N said that W had UI because of failure to alert 2( and the answer to N’s question. I asked W why he bid 3( - he said he had to make a game try opposite a strong NT.
Director’s ruling:

Table result stands

Details of ruling:

W has UI but it is hard to see how it leads to 3( - W surely knows of a 4-4 heart fit and a more normal action would be to bid 4(. My impression is that EW were floundering about in an unfamiliar situation caused by a non-penalty double that they were not used to.
Appeal lodged by:

North-South

Director’s comments:

The TD would comment that the 3( bid doesn’t make much sense with or without UI – the auction suggests 4( (if 3( is meant as super-accept of S then E will convert 4( to 4(). The UI doesn’t alter that and that the only reason spades plays better than hearts is because heart break is 5-0 which W couldn’t have known. W could equally be using UI to pass 3( if 3( accepted spades in system but was meant as natural.
Comments by North-South:

1) As TD has stated if W believed E had hearts then 4( would seem normal. If 3( is conventional agreeing spades then 4( presumably (see 4)
2) If E had alerted 2( as spades then his 3( bid would presumably show 5 hearts, W would presumably raise to 4( (see 4)

3) It is possible that W thought that E had misunderstood his partner’s 2( bid and had UI. Consequently ignoring the implied heart fit to bid 3(
4) I do not understand EW comments stating that 3( is a game try over 3( - what would be the bid ‘to play at the lowest level’. Following this line 3( should have been the try followed by 4(.

Comments by East-West:

W has UI that E has not simply forgotten to alert. Therefore W should ignore this and assume 3( agrees spades with a heart feature, as it would over a penalty double or if uncontested. 3( is a game try. Should maybe have alerted 3( but this gives partner UI and as we said this is undiscussed over the double showing minors so didn’t really know what was going on.
Appeals Committee decision:

Director’s ruling upheld

Deposit returned

Appeals Committee’s comments:

We believe W made his 3( bid in line with their systematic understandings and took a very pessimistic view of the hand, which turned out to be correct. We agree with the directors assessment that the potential UI was not a factor.
